
EXERCISE # 1
A.

Q.1 
(a) x

1  + x + x2 + x3 – x4 + 5
1 x5

(b) 3
2 x + 7x2

(c) 2
3

x
7y27

x2


(d) 1 
(e) 3x5x3   

Q.2 x2 – x – 42  
 Q.3 6 – 5y – y2 
 Q.4 a2 + 46a + 205 
 Q.5 ab + ac –b2 – bc 
 Q.6 p4 – 81q4

 p(x), 
q(x) 
 Q.7 p(x) = 2x2 – 5x + 7, q(x) = x – 1 
 Q.8 p(x) = x9 – 5x4 + 1 , q(x) = x + 1 
 Q.9 p(x) = 2x3 – 3x2 + 4x–1 , q(x) = x + 2 

q(x), p(x) 
 Q.10 p(x) = 2x3 + 5x2 + 3x – 4, q(x) = x – 1 
 Q.11 p(x) = x4 – 3x2 + 2x + 1, q(x) = x – 1   

B. 

Q.12 125 a3 + 27
b3

 
Q.13  x2 + x – 20 (x + 5) 

q(x), p(x) 
 
Q.14 k (x – 2),

2x3– 6x2+ 5x + k 
 
Q.15 k (x+3), 

3x2 + kx + 6 
 Q.16 p(x) = 3x6 – 7x5 + 7x4 – 3x3 + 2x2 – 2, 

q(x) = x – 1 
 
Q.17 k  y3 + ky + 2k – 2, 

(y + 1)  ? 
C. 

Q.18 a3 + b3 + c3 – 3abc 
= 2

1 (a + b + c) [(a–b)2 + (b – c)2 + (c–a)2] 
 
Q.19 

(a + b)3 + (b + c)3 + (c + a)3 – 3(a+b) (b+c) 
(c + a) = 2 (a3 + b3 + c3 – 3abc) 

 
Q.20  x + 1  x – 1, mx3 + x2 –2x + n 

 m n 



ANSWER KEY
A.  : 
1. (a)  1xx

1   –1
(b)  x  1  2 
(c)  x  1  2  y 3 
(d)  1 = x0  0 
(e)  x  = (x)1/2 ; 2

1

2. (x + 6) (x – 7) 3. (6 + y) (1 – y)
4. (a + 41) (a + 5) 5. (a – b) (b + c)
6. (p + 3q) (p – 3q) (p2 + 9q2) 7. 4
8. – 5 9. –37 
B.  : 

12. 


  3
ba5 



  9

b
3
ab5a25 22 13. (x – 4)

14. –2 15. 11
17. 3
C.  : 
20. m = 2,  n = – 1



EXERCISE # 2        
 

 : 
Q.1 36x2 + 60x + 25 

Q.2  : 22 b3ab62a2   
 Q.3 (x2 + 4y)2 + 21 (x2 + 4y) + 98 
 Q.4 4(x–y)2 – 12(x – y) (x + y) + 9 (x+y)2
 
Q.5 1 – a2 + 14ab – 4ab2 
 
Q.6 a + b – a3 – b3
 Q.7 a3 – 3a2b + 3ab2 + b3 – 8.  
 
Q.8  x–7  p(x) = x3 – 9x2 + kx + 693 

 k 
 
Q.9 x6 + y6 
 
Q.10  (x – 1)  p(y) = y3 – 7y + 6 
 
Q.11  x3 + mx2 + nx + 6  x – 2 

3 
x– 3 m  n 

 
Q.12  4x4 – 2x3 – 6x2 + x – 5 

2x2+ x – 1 
 
Q.13 

x4 + x3 – 7x2 – x + 6 

Q.14 y3 + 2y2 – 5ay – 7 
y3 + ay2 –12y + 6 y + 1 
y – 2 A  B 

 2A + B = 6 a 

Q.15  (3x – 1)4 = a4x4 + a3x3 + a2x2 + a1x +a0
 a4 + 3a3 + 9a2 + 27a1 + 81a0

Q.16  2x3 + 3x2 – 8x – 12 

Q.17  x3 + x + m  (x – 1)  (x + 1) 
7 

 m
 
Q.18  3y3 + py2 + 4y + q  y + 2 

–5 (y – 3) 
 p  q 

 (Q. 19 to 24) 
Q.19 x3 – 5x2 + 2x + 8.  
 Q.20 x3 – 6x2 + 3x + 10 
 Q.21 x3 – 6x2 + 32. 
 Q.22 x3 + 4x2 – 11x – 30. 
 Q.23 x3 + 17x2 + 95x + 175. 
 Q.24 2x3 – x2 – 13x – 6.  



ANSWER KEY
 : 

1. 6x + 5 2. ( 2 a + 3 b)
3. (x2 + 4y + 7) (x2 + 4y + 14) 4. (x + 5y)2

5. (1 + a – 7b) (1 – a + 7b) 6. (a + b) (1 – a2 – b2 + ab)
7. (a – b – 2) (a2 + b2 – 2ab + 2a – 2b + 4) 8. – 85 
9. (x2 + y2) (x4 + y4 – x2y2) 10. (y + 3), (y – 2)
11. m = – 3, n = – 1 12. – 6 
13. (x – 1) (x + 1) (x – 2) (x + 3) 14. a = x
15. 0 16. 2  –2
17.  = –1, m = 7 18. p = –26, q = 136
19. (x – 2) (x – 4) (x + 1) 20. (x + 1) (x – 2) (x – 5)
21. (x – 4)2 (x + 2) 22. (x + 2) (x – 3) (x + 5)
23. (x + 5)2 (x + 7) 24. (x + 2) (x – 3) (2x + 1)




